Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

201510 5 0B 10 15 20
Vertex z (cm)

=T

=y

nmur; 3

I

annngde

Pull of x

Ratio

1.8

[EBsmn]

Pull of x for merged vertices

Ratio

-5

0

5 10 15 20
Vertex z (cm)

pofrdnd

0 T IE W1

145— --------------- E“ -------------
O 1 o 1
bl
oot LRI ..

20=15=10 5 0 5 10 15 20
Vertex z (cm)

Vertex z (cm)

Pull ot y

Ratio

Pull of z

Ratio

1.8

1.6

14

1.2

1.1

L

I
{0
T

|
N
o

1
|
(&)1

-10 =5 0 5 10 15 20

Vertex z (cm)

1.8~

W

b

10 15 20

Vertex z (cm)

Pull of y for merged vertices

Ratio

Pull of z for merged vertices

Ratio

0.6

1.z

1.1

0.9

[y
T T

&5 515

10 15 20
Vertex z (cm)

10 15 20
Vertex z (cm)



	Contents
	Page 1


